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20 Problems in Calculating Type 2 Difference Quotients
(Part 1)

fla+h) —f(a)

h
PROBLEMS

1. f(x) =x 2. f(x) =x?

3 f(x)=x3 4. f(x) = 2x3

5. f(x) =2x*+5 6. —5x% + 3x

7. f(x) =x3—-2x%+3 8. f(x) =3x?>—-5x+4
9. f(x)=mx+b 10. f(x) =px?>+qx+r
11, f(x) == 12. f(x) = —

7
5x+2

13. f(x) = — 14, f(x) =




15. f(x) =+/x 16. f(x) =vVx—3

17. f(x) =vx?2+1 18. f(x) =V3x%2+x
1 1
ANSWERS
1.1 2. 2a+nh
3. 3a? + 3ah + h? 4. 6a? + 6ah + 2h?
5. 4a+ 2h 6. —10a—5h+3
7. 3a®>+3ah + h? — 4a - 2h 8. 6a+3h—5
9. m 10. 2pa + ph+q
-1 -1
11. a(a+h) 12. (a+2)(a+h+2)
-7 -7
13. (a+2)(a+h+2) 14. (5a+2)(5(a+h)+2)
1 1
15. Va+h+va 16. va+th-3+J/a-3
17 2a+h 18 6a+3h+1
" J@+h)?2+1+Va?+1 " f3(a+h)2+(a+h)—V3a%+a
-1 -1
19. Vava+h(va+Va+h) 20. Vat2va+h+2(Va+2+Va+h+2)

“Only he who never plays, never loses.”
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